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(13) A vessel contained a solution of acid and

C  water in which water was 64%. Four liters of Qeid 3
5r  the solution were taken out of the vessel and Pedh Q MY ) o 0-32
the same quantity of water was added. If the waley 0.64yx (2.5¢) 4 0-Tx

resulting solution contains 30% acid, the
quantity (in liters) of the solution, in the

beginning in the vessel, was Soluhon 4 (4) (l.| ) Y
a. 12 b. 36
g 2 d. 2

0.3C2—1-YY = 0. 3=
ek volume of-Sol ol x =24
the beginng 1S 2 lives

Q64 -ASC +Y4Y = 0.7

4y = o0 06X
A=24
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(14) Incomes of R and S are in the ratio 7 : 9 and
D their expenditures are in the ratio 4 : 5. Their
3 total expenditure is equal to income of R.

What is the ratio of their savings?
a. 23:36 b 28:41
¢. 31:43 d/ 35 : 46

let- income. o R and S ane Tx , %
expend o R ond S oua ‘-?7,5'7

Uy+ Sy = Fx
97=?z

AR

sowingz of R Ihome ok R — exp o R
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.Scwiv84

of R home ok R = exp o R

sowin 8‘

ol S Inwome of £ - exp o S
= ?‘x.-l-(s s TR= "l(a;—x)
= =
_ =x [4 ?J B csszsz
- 35
- [, TJ Rl- 2§
3s =

T —— = 35:46
e
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(15) A bag contains 105 coins containing some 50
8  paise, and 25 paise coins. The ratio of the
st number of these coins is 4 : 3. The total value

(in 2) in the bag is
a. 4325 J 41.25
. 19725 d 3R75

\0S
oL |
- : 3
€0 ys
X X
Q-S 0-28
30 1.2
N —
Yl. 3¢ |
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(19) A group of 400 soldiers posted at border area
D had a provision for 31 days. After 28 days 400 soldiesan ¥ 31 elcud»g
¥ 280 soldiers from this group were called back.

Find the number of days for which the - Q40D un)ts
remaining ration will be sufficient?

q. 3 b. 6

c. 8 d. 10 Used in My 465%

400 sold X 2% = 11200 unibs

Ralonwe = 1200 unils

Ba) soldiws = 12¢ soldiew
(400 -2A%0)

o closc.
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(19) A group of 400 soldiers posted at border area

D  had a provision for 31 days. After 28 days 400 sol diesn ¥ 3l da.nd,‘
X 280 soldiers from this group were called back.

Find the number of days for which the - IR40D unts

remaining ration will be sufficient?

a. 3 b. 6

c. 8 d. 10 Used in 2 daye

400 seold X 2R = 11200 unils

RBalonwe = 1200 unils

Ba) soldiow = 20 soldiew
C4o0 -2/s)

o deys
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(2) Forp, q, r, s >0 the value of each ratio is

A p _ 9 __r __s
g q+r r+s s+p p+q

4

C 12 b. 13
C. 1/4 d 1
addendo
P , B S _  pt9tn+s . PTitAts
q +> A+s S +tp P19 2P+ 29+ W+ 2% 2(ptqsran+

= ’

2
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- MIPMay20
The ratio of the prices of two houses was
16:23. Two years later when the price of the
first has increased by 10% and that of the
second by T 477, the ratio of the prices

becomes 11:20. Find the original prices of the

(10
A
%

two houses.

IR N

848 T 1219
¢838, ¢ 1L.119
828 ¢1.219
¢ 848 01,229

v | X

. 6 _ 16xs3

Z?-x 22x§3
Cléx x1-1)
23x + 433 <20

352% = 253x + s24F

% = S24F
X =53
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(13) A bag contains T187 in the form 1 rupee, 50
A paise and 10 paise coins in the ratio 3:4:5.
s¥  Find the number of each type of coins.

102, 136, 170
b. 136,102,170
¢. 170,102, 136
d.  None of these

(BzXx2T) + (4xxX052) + (sxx0/<) = |33

5-5_2':.!?:}' = 3y

JE = 102
x = 13¢
S»x = 120
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(14)

MTP Nov 20
The ratio of the speed of the kwo trains is 2: 5.
If the distances they travel are in the ratio 5:
9, find the ratio of times taken by them.
a. 2.9 b. 18:25
G 25:18 d. 10:45

=S

.
\

D
7
T=

L
S

o
i
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MTP June 22

(27) X, Y, Z together starts a business, if X
D invests 3 times as much as Y invests and Y
X invests two third of what Z invests, then the
ratio of capitals of X, Y, Z is
a. LI b. 6:3:2
¢ 3:6:2 Vb: 25
Note: Option given in MTP Ans key (b) is incorrect.

6:

|
NI~

> Bl

:l':-i
/ 2
. 2
=

(¥ scanned with OKEN Scanner



3
2
a
3

(¥ scanned with OKEN Scanner



(16)

PYQ Dec. 21
In a department, the niumber of males and
females are in the ratio 3 : 2. If 2 males and 5
females join the department, then the ratio
becomes 1 : 1. Initially, the mumber of females
in the department s
@ 9 ,/( o

¢ ?' d. S

3x+2 |

"

2% 4S5
4= W t+s
X =3

21

1(3)

9
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PpDOD PYQ June 22
(17) A box comtams 25 paise coins and “10° parse
C coins and 5 paise coins inratios 3 : 2 : 1 and

todal money 15 € 40, How many 5" paise coins

are there?

-
=
—
=
)
-
1
<)

'_!-_l .

{ +4) d

(3% X ©.25) 4 (2%xX01) + (ex0-05) = Yo

=40 2= 4O

no. o} 5 P comng = = 4O ccoing
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MTP May 18
(1) P, Qand R three cities. The ratio of average _P_
B temperature between Pand Q #s 11: 12 and @ 2
that betwoeen P and R is 9:8. The ratio betiveen

=
o/

n

v

the average temperature Q and R

a 22:27 0. 2722
. 12:33 d None t',fl these P - Ss —E— - "3—5-
Q 08 R 8%

Q:R= 103 . 23 52
2

(¥ scanned with OKEN Scanner



D MTP Nov 19

(8) The ratio of the earnings of two persons 3:2. If El - _3_1'_
8  each saves 1/5" of their carnings, the ratio of _E__ 2n
their saving L
a 23 b. 32
{ 45

SUJ\"\S s &G..lm'\a — E;gP ‘SL
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(9)
SPK

b o - . L X *'.'il"g
59. What is the value of[%Tb ") &*ﬁ)‘“—b’. [-ﬁ)“""“ 5~ P PR P /-

-a b / T Y 13
(A) XIRFDEC) (B) xabe e N b4 L -- :
‘ 7.
(C) -1 {D) | : Tt £
/

307 A number consists of two digits. The digits in the ten’s place is 3 tifﬂf:S the
digit in the unit's place. If 54 is subtracted from the number, then the digits are
reversed. The number is : 1OY
(A) 62 (B) 39 ¥

P (D) 31
31. A person purchased 2 apples and 5 bananas at the cost of ¥ 90. Later he visited
to another shop where shopkeeper told him that if you give me T 50 and one
banana, I can give you 3 apples. He agreed to the deal. What is the cost of one
apple and one banana ? 2n
(A) (10,15) By (1519 > ©
(C) (10,20) (D) (20, 10) v
he ratio of income of A and B is 5 : 4 and their expenditure is 3 : 2. If at the
d of year each saves T 1,600, then the income of Ais:
T 3,600 (B) 3,400 2x + 5% O
% 4,000 (D) T 4,400 y= 50
: — - (e
33. The mean proportional between 12x? and 27y is : e i e S E
(A) 8lxy _AB) 18xy . =
(C) 8xy (D) 19.5xy
Sx - _3-1 - [“f=]
34. log, log, log, 256 + 2 log ¥ 2 is equal to :
(A) 3 (B) 2
€ s (D) 7
SPK o
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